Th %) (Equeetf) « bet £, b0 iD =R, 0ei2, Lo

measuvade, m (D) <L +oc. Assuine that fn — f ae.an D,

Then %or e_.\!?rﬂ € >0 dhere exste Eg’ C D such tuat

Egedl, m (Be )< € and £, = & on DvE, .

'S
Beloe we prove the theorewm recall +he Lollow (‘143 ful o
Prorom‘h‘ows :
(P\) .3% ’i’ %) ’M?Q&qra\o\&J ‘H/leva \ ﬁ\ \‘3 Wl s u‘a\ole R
Judeed, | ‘: | = \:‘*— + {'} . %4’ ; '%ﬁ Ove W €asuraole .
(84 & 5, #%.)

(PL) IF R, AL, A, €l Ay DA, feru=h?,

"r\/\ﬁﬁ 9o
m (U Aa) =Liwm w (AR).
n=j

u -+
( Bj w w?.) H G. )

Peeob of T 171, Let € >0 be fixed, We daut

-\—V el 'Hfu—x,'\" "\«té\"e» Q‘M")\‘C, E‘e < D <k 'i‘\«ia»)\_

A% ( Ei’/ ) pag ﬁ, &vca\

17C NgN O NZ xeDvEy

dm othec v\}\.}\/-a"s) ?‘w = fv on D~ Ei .




(et DL O ke

Doz §xeD ¢+ £, &) €Y.
Then v, ¢ /(M/) 112 (Dc):O . Fev eadh lb»:}u\y* ) € Y
omd U e IN detine the fellewing set

_ & xeD~vD, v ) gm(,q._y‘x) | < j&‘ fev m)’n?] , ()
Mo i &m -\ s measarable, B ¢ LUy fov O, n € [\V
{":V-OM (2), Ef)-.m_'\ 2 Et {-o«“ all C,ne N, Algo -(ia\fﬁ?dér\«j
e o |
L) bt‘l‘ﬂ = DIV D() . (3)

nei
Te prove (3), Fix {and take xe DvDe . Then
£ul) = ) Fuws, | B, (-f) | < Lo forn> N
-\lcr sowmé. N (Cwbath dewua\s 9V X owvid ) Hewce

X € B¢ ON and e Tvdusion Dv D, C \J \:l o PW\’P’\
The oppos stre twclusion fell ove fvou (), :\—uS, (3) s Proued,

Bj Lt -13) {:o‘” ﬁv‘brﬂ \N—\xev‘l t=12,.. ,we lave -
L w CELL) = Mm(D~D,) = m(D)-m(D)=
W —=> v ; N .
= m(D). (4)
(The second Qﬂ,’u&l( *j Eo\\o\.;es {?VOW\ ’PrcPI'Zu?? Qo w ( D\ 4*"(7:‘)
Eeom (%), bov 6\}&'3 \Lixed ¢, thewe exiots N ¢ N sl that

= . (%)

W\(_,Li\'r) VW(D‘)'"‘Z? /VV‘(D'V-N)

/

> |m



D(’-\;Cwﬁ

Ef',, = D~ N EC)N: = g‘(DMECJ\\/:) . (€)

By the latter equality aud (5), e have

o 0 - £ _
'VV\(te) = M(z\:):iLD’VE;)‘\]J))é Z :7:1' E. .

It vemaivs fo shiea buat (’“:2)(_ on D~ . Obkrewe

o0

D~ E = D‘ =, N
T\A&'E&C\rt’) {;or ey Xx¢ D~ ]_:,€ we have
X e BNy fer =40 e
From (), we obtain Hoat focall x € DV Eg nd all 0=, ..

| €0 (1)) —§ ) | < 4\}5 foc m >N . (F)

X

e awe veady ‘o shos (1), Let Yy >0 be gven . Lot (el
2"
[ "@V\ (7‘) —{—(?‘) \ < :‘(—i‘c

Hewce , (1) Lelds ity NZ =N, ¢« The proof s complete .
i =

9{}9 Sl tluat A 4'2 (7.) L‘MP\\‘ES +hat

< 2 {—\?\" al\ n > N(‘o ;X GD'VE& '



